Multiply by Positive Powers of Ten (])

Find each product.

3.19 x 10° = 9.223 x 10° =
2.4 x10%= 9.93 x 10 =
446 x 10* = 0.27 X 10% =
2.1607 x 103 = 0.3 x 10 =
8.89 x 10° = 7.947 x 10% =
7.829 x 10% = 8.45 x 103 =
9.5424 x 10 = 7.321 x 10 =
1.35 x 10% = 44551 x 10 =
6.26 X 10° = 5.5x10% =
7.5361 x 10° = 7.8611 x 10* =
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Multiply by Positive Powers of Ten (J) Answers

3.19 x 10° = 3,190

2.4 X 10% =240

446 X 10' = 44.6

2.1607 x 10° = 2,160.7

8.89 x 10° = 8,890

7.829 x 10°> =782.9

9.5424 x 10' =95.424

1.35 x 10> =135

6.26 X 10° = 6,260

7.5361 x 10° = 7,536.1

Find each product.

9.223 x 10° =9,223

9.93 x 101 =99.3

0.27 X 10 = 27

0.3 x 10°=30

7.947 X 10%> = 794.7

8.45 x 10° = 8,450

7.321 x 10°* =7,321

44551 x 10" = 44.551

5.5 % 10% = 5,500

7.8611 x 10% = 786.11

Math-Drills.Com




